Rd L K2 110 &458
LB ELEPE AL RRA

FBER ML [(MEABELETE]

i EFE—

#RFE] 100 448

FRABLSENAFHHEE ERAFETE - B~ L - Fahdlk
BE(F) 2RBELHEESH - FARSE BERMBATERE » wF RE L
BPiFEE XA B RIE o

BEESMAE - BLE@H4HETE -BEREF THESELE - &
EEREXFRR S RA-BER (F) ~ FHREMHITEES) - BA
BHERERA—GEAEA > REFHEBEE  FEHELS -

BEFHEU2BEZER R ATHERGER (%) B> k458 2B &
E R ARBRTRICEHEREENRARY A4 R h 24 84T
& o

EEH (F) BRRFFRERRE > FHHE - B3R LB QB 53528 Bk
HRRFEEA AL BEEERERALLEEHWIEMIFRY
5% ©

TEERAGTERFRABENNAZELE > o T5T0L | R » BIE ~ 5
R ERFHETEABN  DRALEESERE b ERGE
F - ARAFZEREM D h (R THERL - EFFLE) A

N

M

MENERE (F) BHBLOMO - REEEFZRREUSHEHE -
AR REESIE - EEEIEHEENREES -
ERBRARBEEA SR RERERIEEERE -

M




BaLF LREI0EEEATLBHFELEHP AL RRAE

#BLEE Ay [MEAFELHTE] A5k - 443003
XKAEAHBEMERZ "ARATU, A ERCGRAAE) £4BHE1E

EHEA(EE —ALD)

I FRIATFAT & R4 R FL?

A oMK Y/ R—EikH S, K& Summation &Lt AwiE RfeayEE
B. #4043 “dx” s94ER &AL x 4B KE, At d 444%& difference

C. o REMAL—EEBANHE, BNETHE
D
E

sk

. PR RSB NA LB E —4%%
. b AR

2. HE AT AT EAE G RLILT
A #REFE-EARIGESR, BAKME >0
B. “SIr(MREXTHE, HURAE, REHE, KDILF” ZTEHFTUAFRBR:
(R EAR, HURQ, RI, HEFELFE
C. B#Fidibiafs —BEAEAT A oK, mo&ies N RkE>0
D. BATHRMATEA MM FIRS RaMMTAIEEZ — 4] |
E. Bl b% A EsE

3. HFLATATH R F AT

A.Eﬁ%f3dxﬁ%%£ifﬁ£%%@ﬁ

B, ABABFWMAMRAY, —ERBRAAMEALAFRE —GGEARAEELEE =1
C. 24eh%kmuEHS {0,1,1,2,3,58,..} AAEHF), FFELENBRRT

D. J# 2% ¥y & x2°71

E. oA L% A5

4. PR T AT A EAOHCRT
A RSEEHEL P TRERG RS LR, £ 8RR AA BT
B. #MTUAMBRK RS Vx 818 AHBIH Inx B EEHFL A & (Utility Function)
C. & imm lim (S7) 3 0/0 &, RITRE R ETRAMAEREE A

D [Inzxde=1/x
E. s b% A iEzE

HAFHEED  FYTFERTHAE



B b R2 110 2FERATLTERATTHEZ LA RRNE

1B A% RS [MEARALIETE] A ¢ 443003
XEABRMERAR "ATR, EAHERCGEEE) £4H%27

5. UTFMEMREANGERALMBERRR?
A. &% f(x) % concave
B. f(E[XD Z E[f(X)], £+ E[X] A%3 X eyiffh
G fGo)=lnx x>0
D. In(A.M.(X)) = AM.(In(X)), £+ AM.(X) & X ={x1,%, ... %} 1B T3
(Arithmetic Mean)
E. s %4
6. LA & ERE A ALY
A, — BB ER 6 R Bl AT
B. #4840 (Riemann Sum) &3t , R0 ABIET Kk Ax 0 23085, BRI LAk
MMEERI AT R B IR Z & F RF AR R
C. Mo REFAESEFHF A RBAF BT, Pl 87 TR HIEr#H» &

(Integration by Parts)
D. #4 %oy P REE L (Mean Value Theorem) R B H B ey ST E, Bt A AT
£ KK B

E. L% 53

¥ 3%

5?

A (10 47):
AETHALEFERM—RENHTHT, H 65
“RECGRIRRE, THE, BE log RATEL R 4E, RHGFFRAF.
FHRA:
(1) B R RHOFAMRAT ABMNTEEZRA? (2.5 4)

QHMEAMELNAL, REZMEAHRIRATEL, RESES, REEIMN 2 FH
SRR, (7.5 %)

REFESHT FYEFERTAA




BrdLuA® 110 25FRLBALEERE SRR

#FBAE BHs (MEARTHETEA]
XAABRMERE "FAT00, EAHERGREE)

A% © 443003
£4HF3A

HEA— (204, & A445):

KT 4R
(1)
. (Inx
lim (—-——)
xX—0o0 x
(2)
]irg)(e‘xxz)
(3)
lim xInx
x—0+
4)
lim x*
x—=0+
(%)
X

lim (1 + —)
x—00 L

HERZA= (20 4, BEDS):
42 6 AT 89 3 BRE 9

f=Ing 2>0=Ffx)=1/%
(D #HfX)=Inx Eapsesg LAk f(x) = lim(A). 57% i A =7
Q) HE()WERS:
1
-
e H B =7

(3) 3 lim(B) = 1
4) £ Q) F, BIMER T RKARRERE RAHETUTRNGMEE:

limIn( ) =Inlim( )

H I RATT AR R B B AT?

RAFHEEEE  FEHETOREAA




ByxbPLAS 11025 ERIERLEHBAEFRRAE

#B48 ke [MEABALHTA] A% ¢ 443003
MEAHABRBEREL TATU, ERFTERCGEESE) HEA4EH4E

HEA= (20 4, BAELH):
% —FEHe % 8 X # lognormal distribution, /%5 InX 2 % & 5-Bu.:
InX ~N(u,0?)

InX —
g g s e

~N(0,1)

A Fyon # fron RTREFTESRABHIAIBAREEE LY, F Sk Fiyon = fvoy-

W) FEHUTHHERE X 9BEFEEIH frx), R fN(o,1) F

d
fx(x) = %Pr(X <x)= a;Pr(InX < Inx) =2
Q) HFRAALEXFHE EERRILHRRA.

(3) 1B3%H&AE S 485 R t =T 4 lognormal distribution:

1
InS ~N (lnS(O) + ('r - EUZ) T O'ZT)

b S0) Bt =0 e EHALE Cho,r BERRAHE, o BERSE, 91T HALEH. Hd ()13
H f5(s) =7 FIAREA fyo,) &7
D EREEBR S S 2)BUATHIXE:
s ®)
[(spwas=[ @a
g ©

FHRUC=D=NE=1E L EFB{RREER L ¥ 2z~ N(0,1), 7REp:
1 i
—_ e 2
fN(O,l)(Z) mexp( 22 )
(5) Riif£ 4) T e9f 5

(D)
f (E)dz =7
(

()]

HAFEAHE  FUEFBATAA




B AR 110 R4
BB L B A £ S

FELSE B2 [MEAELECLR]

— A EEE -

£RXFHE 100 44

FEHLEENAFRMNRAE  BRFEE e - L - i L
ZE (F) 2RAEEES 2A%8 s BRABRAFTLEZE W RE L
PPk BE AR RIE

ERERAE - REEEE4HET -HERET THEBRAZE &
EERABXFRR S R BER (F) ~ FEGEHITESH) - BA
BB — W EES  FFBHEBBIE  SHEBEL -

BEFHUBAER N ATHERAGER () %k k48 H 2B 4L
F R ABRTHBLLHERE R PREAEE BB 24 47
B -

BEE (F) BRHBFRERE  REHE - BUE R R BUE L B8 RIE
W FARREELARL REBRRGSRBLEZRMNZETXERY
% o

TEERATERFRAAENNAZELE o T 4EH 0 BRBE~ 3
FEARH)  EARAFEFALAR N LRINBEA RIS R
F-FHRAPFZEHAESN S (WEHSE 8T TF2HE) A
3% e

RERERS (F) FHOHE  RYEEZNEEUEIE -

o FEFEEMI » EEEIBHEEHMEES -
® ERERAIRIBEESHABHR RER RIBHERE o




AP LUALZIIR2FERTERALEERELRRA

Fess af® [MErALECE] 3% ¢ 443004
XAHBEMERZ "RATU, EAFERGREAE) £TREI1R
— o iEEA BB - FI6HMAERETEN S B 25 55 1720 MAKMRERI Yy HFHE3
1. Which of the following is NOT a prediction of marginal utility theory?

A. Other things being equal, the higher the price of a good, the lower is the quantity demanded.

B. Other things being equal, the higher the price of a good, the higher is the consumption of substitutes
for that good.

C. The “equilibrium” in the real world means that households have spent their incomes in such a way
that their overall satisfaction is maximized.

D. If two households have identical preferences but different incomes, the wealthier one will have
lower satisfaction for most goods.

E. The rational spending rule.

A 1 percent increase in the price of good X results in a 2 percent increase in the quantity demanded of]
good Y. A 1 percent increase in the price of good Y will result in an increase in the quantity
demanded of good Y that is:

A. 0.5 percent

B. 2 percent .

C. Less than 0.5 percent

D. 1 percent

E. Indeterminate from the information given

If a sales tax is imposed on a good produced by an industry which exhibits increasing costs and
demand is not perfectly inelastic, then:

The price (including the tax) received by the producer decreases.

The price to the consumer rises by more than the tax.

The price to the consumer rises by the tax.

The price to the consumer rises by less than the tax.

The price received by the producer remains unchanged.

MO 0w

Suppose that an individual receives utility from the consumption of X, Y, Z. We have learned that

UX, Y, Z) =5 log(X) + 3log(Y) + 2 log(Z). If the individual has $100 to spend on these items and
the prices of the items are 10, 2, and 4 for X, Y, and Z, respectively. The individual will consume:

X=5, Y=5,Z~=10

X=6, Y=10, Z=5

X=4,Y=10, Z=10

X=4, Y=20, Z=5

None of the above

oW

. Consider an individual who lives for two periods, working in the last period of life (nz) and

consuming in the first (c1). The individual can consume in period one by borrowing at the market rate
R. The production function and utility function of the individual are given as y2 = knz and U(c1, m2) =
log(c1) - nz. What is the optimal value of n2?

Al

B. (1+R)/k
C. 0

D. 1/k

E. K/(1+R)

HEFHEHEE FEHERFORAETAR
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6. Ifafirm is able to increase output without increasing costs, it must:
A. Be able to reallocate its output without changing their marginal product per dollar of any output.
B. Have experienced an increase in the price of at least one of its inputs.
C. Not be minimizing its costs.
D. Be operating in an optimal manner
E. Have been using too much of the input with the highest marginal product per dollar and too little
of the one with the lowest marginal product per dollar.

7. The cost function of Animal Across Co. is c(w1, wa, y). w1 and w2 are the wage of factor 1 (X)) and
factor 2 (X2), respectively; y is output level. If Animal Across Co.’s production function is y(X1, X2)
= Max(4X1, 5X2), what is the exact cost function of this company?

A. y¥*(wi/4 + w/5)

B. y*Min(w1/4, w2/5)
C. y*(w1/5 +wo/4)

D. wi/4 +w»/5

E. y*Max(wi/4, wa/5)

8. The accompanying table describes the relationship between the number of workers hired by a call
center each hour and the number of calls the call center can make each hour. The call center has only
1 telephone. The telephone costs the firm $5/hour (regardless of how many calls are made), and each
worker is paid $10 per hour.

Number of
Calls Per Telephones Per Number of Workers Per
Hour Hour Hour
1 1 2
2 1
6 1 6
16 1 8
22 1 10
24 1 12
Average variable cost is minimized when output is approximately:
A. 6 units
B. 16 units
C. 22 units
D. 24 units
E. Indeterminate from the information given

9. Assume TOYOTA is able to practice the third degree price discrimination between the U.S. and the
Japan markets. The demand function in the U.S. market is Qa=600-3P4 and the demand function in
the Japan market is Q=1200 - 6P;. To maximize its profits, TOYOTA should:

A. Charge a higher price in the Japan market
B. Charge the sample price in both markets
C. Sell any more in the U.S. market

D. Sell any more in the Japan market

E. Charge a higher price in the U.S. market

HEFHEME FEETORTHA
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10. A game has two players. Each player has two possible strategies. One is “cooperate” (C), the other is

11x

12,

13.

“betray” (B). Each player writes on a piece of paper either a C or B. If both players write C, they both
get a payoff of $1000. If both write B, they both get a payoff of zero. If one player writes C and the
other writes B, the cooperating player gets a payoff of X and the betraying player gets a payoff of Y.
To betray will be a dominant strategy for both player if

A. Y>1000>X

B. Y>X

C. Y>0and X <0

D. Y=1000and X <0

E. Y>1000and X <0

An industry has two firms, each of which produces output at a constant unit cost of $10 per unit. The
demand function for the industry is Q=1000000/P. The Cournot equilibrium price for this industry is:
A. 15

B. 3
C. 150
D. 20
E. 40

Which of the following statements is NOT true?

In a monopolistic labor market, marginal factor cost is equal to the equilibrium wage rate.

In monopolistic labor markets, an individual firm faces a positively sloped labor-supply curve.

The intersection of market labor supply with market labor demand establishes equilibrium in a

perfectly competitive labor market

Assuming a perfectly competitive labor market, a firm selling in a monopolistic product market

will have a lower marginal revenue of product curve than a firm in a perfectly competitive

product market.

E. In a perfectly competitive labor market, an individual firm can hire as many workers as it needs at
the equilibrium wage rate.

c Qwy»

Suppose there are ten people playing cards in a room. One of them wants to smoke a cigar, nine of]
them dislike the smell of cigar smoke. The smoker values the privilege of smoking at $6, and each of]
the other nine people of the room would be willing to pay 60 cents for clean air in the room. The rules
governing use of the room state that smoking is not allowed unless everyone agrees to allow smoking.
If the rules governing the room instead stated that smoking is allowed unless everyone in the room
agrees to prohibit it, then:

The cigar smoker will smoke, and will pay each other occupant 60 cents

The non-smoking occupants will pay the cigar smoker to not smoke.

The parties may or may not be able to reach a negotiated agreement depending on the bargaining
strength of each.

The cigar smoker will smoke and not have to pay the other occupants for the external cost.

The Coase theorem can not solve the problem in this case.

mo 0w
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14. Suppose Joe has a reliable two-year-old Honda Civic that’s in excellent condition and that he would

15.

16,

17.

18.

be willing to sell for $13,000. Lauren, who is risk-neutral, is considering whether to buy Joe’s car.
She’s willing to pay $14,000 for a two-year-old Honda Civic that is reliable and only $10,000 for one
that’s not reliable. Lauren cannot tell whether Joe’s car is reliable, but she believes that only 20 percent
of two-year-old Hondas for sale in the market are reliable and that the other 80 percent are not reliable.
To Lauren, Joe’s car looks just like every other two-year-old Honda that’s for sale. Which of the
following statements is NOT true?

Lauren will not buy Joe’s Car

In the long run, the sales price of two-year old Hondas in the market will rise.

In the long run, the quality of two-year old Honda Civics offered for sale will fall.

One of “costly-to-fake” examples in this case for Joe is to offer a warranty to pay for major repairs
after selling the car.

E. None of the above.

SOwp

Suppose a study finds that the income elasticity of demand for a public good is greater than 1. What
income tax system should the government consider as a better solution to finance this public good?
Collective

Regressive

Progressive

Proportional

Negative income tax (NIT)

MU0 w>

Traditional economic models cannot explain why:

A. People buy more of certain goods when their income falls.

B. People donate money to charity.

C. People leave tips at restaurants for dining.

D. Some people buy expensive cars and others buy cheap cars.

E. Risk-averse people are unwilling to sell stocks when the price falls.

In 2020, which of the following country’s economic growth is expected to be the best among the
four?

A. Vietnam
B. India

C. Philippines
D. Thailand

A typical IS-LM model composes AD, and AS is the aggregate supply curve of the classical school.
Analyzing the U.S. economy in the face of Covid-19 in 2020 with the model, which of the following
is a correct statement?

A. The lockdown shifts the AD leftward

B. The lockdown moves along the AD upward

C. The increased unemployment moves the AS leftward

D. The hospitalization of workers does not shift the AS.

REHHMENE FYEFOATHAE
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19. In the expenditure approach to the national income accounting, the expenditure is put in 5 categories,

20.

21,

22;

23

24.

C, I, G, X, M. About the spending on education, the personnel, office supplies, equipment, and

buildings are supported by the government and tuition paid by students. Choose a correct answer.

A. the spending by both the government and households belongs to I

B. the spending by the government does not count in the national income accounting and the
spending by households belongs to |

C. the spending by the government belongs to G and the spending by the household does not count
in the national income accounting

D. the spending by the government belongs to G and the spending by the household belongs to C

What is among the reasons for an increase in Taiwan’s foreign exchange reserves?
A. Interest receipts from the foreign exchange reserve invested overseas

B. Taiwan’s central bank sells U.S. dollar

C. more imports

D. more exports

If a country has very high unemployment rate and the government requires firms cut the hours
worked per employee and hire more employees. With the hourly compensation for work remaining
the same, what is the effect of the policy?

A. consumption increases

B. consumption remains the same

C. consumption falls

When the media talks about the U.S. Federal Reserve changing interest rates, the interest rate talked
about is

A. the interest rate charged on banks borrowing from the Federal Reserve

B. the interest rate of interbank loans with very short duration

C. the 10-year government bond interest rate

D. banks’ one-year deposit rate

A country is at full-employment. Given the expenditure approach to the national income accounting,
the expenditure is put in 5 categories, C, I, G, X, M. If it intends to reduce its trade balance, which of
the following is not an appropriate policy?

A. encouraging investment expenditure

B. reducing taxes

C. encouraging savings

D. increasing government spending

According to a typical IS-LM model, a country’s income will

increase if there is a cut in government spending and an equal rise in autonomous consumption
decrease if there is a cut in government spending and an equal rise in autonomous consumption
increase if there is a cut in government spending and an equal cut in lump-sum taxes

decrease if there is a cut in government spending and an equal cut in lump-sum taxes

Sowp
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25. Which of the following is inconsistent with New Classical School of economics?

—_—

1.

1.

26.

A. If the government announces its intended tight monetary policy, reducing inflation needs not be at
the cost of increased unemployment

B. If expected inflation is not equal to the realized one, the labor market is not at full employment

C. If there are negative shocks to aggregate demand, there is no need for government economic
policy to intervene

D. Surprises in monetary policies does not affect the real output

Personal income does not include

capital gains from stock investments
interests from bond investments
transfer payments from the government
rent received

retirement pension received

SESRoR- S

PR MBEFENy R BRAs AEREFORERAABTERRE
The balanced budget multiplier is smaller in a typical IS-LM model than in a simple Keynesian
model. Why?
The production function is y = N - N%/4, the nominal wage is fixed at W by contract, and there are
many unemployed. Let price level be denoted by P. Show the aggregate supply function.

In a typical IS-LM-BP model, the BP curve of a small country with perfect capital mobility is usually
shown as a horizontal line intersecting the vertical axis at the foreign interest rate. What is the
assumption made about the exchange rate?
Y=Ca+o(Y-T)+1+G+X-M,X=0Y* M =BY, where Ca is the autonomous consumption
spending, X export, M import, Y* foreign income, and all the Greeks indicate coefficients. Derive
AX-M)/AY* = .

In the year 2020, Taiwan’s export growth was relatively good, and possible reasons include A) export
of masks and medical supplies B) export of electronic products due to the need for remote work C)
good control of Covid-19 and production is not interrupted D) some of China’s export markets are
lost to Taiwan due to the U.S. trade war against China. Choose one you think is the least important
reason and explain why it is the least important

AR EREEN s AWl FH2S5 5

There are two local labor markets in a society. Either market has no union. In equilibrium, hourly wage
for both markets is $9 and the employment for market 1 and market 2 are 125 and 75, respectively. If]
workers in market 1 unionize instead, the wage in market 1 becomes $12 by negotiation and 25
workers go out of work (the employment becomes 100). In market 2, labor increases by 25 workers
from market 1 (the employment becomes 100) and the wage decreases to $6. Given the information
above, the net welfare loss to society will be

Suppose that the demand for street parking spaces in Kaohsiung is Q= 140-p. Kaohsiung municipal
government prices each street parking space at $20 (p=20) and the supply Q=50. If every demander
has the same probability of finding a street parking space, the consumer surplus that all parking spaces
can provide is

HAFHEME FHETORFTAA
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3. Avillage has six residents, each of whom has accumulated savings of $100. Each villager can use this

4.

money either to buy a government bond that pays 15 percent interest per year or to buy a year-old
goat, send it onto the common field to graze, and sell it after 1 year. The price the villager gets for the
2-year-old goat depends on the quality of the fleece it grows while grazing on the commons. That in
turn depends on the animal's access to grazing, which depends on the number of goats sent to the
common filed, as shown in the following table:

INumber of goats on the common filed |Price per 2-year-old goat (§)
1 125
2 119
3 116
4 113
3 111
6 109

The villagers make their investment decisions one after another, and their decisions are public. The
village committee votes to auction the right to graze goats on the common field to the highest bidder.
Assuming villagers can both borrow and lend at 15 percent annual interest, the right sells for at auction
will be '
Jamie’s marginal utility from muffins and from doughnuts is shown in the accompanying table. Jamie
has $18 in the pocket to allow her to consume muffins and/or doughnuts. The price of each muffin
is $3 and the price of each doughnut is $2.

Muffins Marginal Doughnuts | Marginal Utility
Per Day Utility Per Day Per Doughnut
Per Muffin

1 45 2 25

2 30 3 16

3 15 4 10

4 8 5 6

6 6 6 4

Within the budget, how much does Jamie need to spend on doughnut to optimize her consumption
expenditure?

MAEFHEEME  FYEFBREAA
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1. Which one of the following rights is never directly granted to all shareholders of a publicly held
corporation?
A. Electing the board of directors
B. Receiving a distribution of company profits
C. Voting either for or against a proposed merger or acquisition
D. Determining the amount of the dividend to be paid per share
E. Having first chance to purchase any new equity shares that may be offered

2. Jenner's is a multi-division firm that uses its overall WACC as the discount rate for all proposed
projects. Each division is in a separate line of business and each presents risks unique to those lines.
Given this, a division within the firm will tend to:

A. receive less project funding if its line of business is riskier than that of the other divisions.
B. avoid risky projects so it can receive more project funding.

C. become less risky over time based on the projects that are accepted.

D. have an equal probability with all the other divisions of receiving funding.

E. prefer higher risk projects over lower risk projects.

3. Ifafirm commitment IPO is overpriced then the:
A. investors in the IPO may consider suing the underwriters.
B. Green Shoe provision will probably be utilized.
C. stock price will generally increase on the first day of trading.
D. issuing firm is guaranteed to be successful in the long term.
E. issuing firm receives less money than it probably should have.

4. Mountain Groves has an unlevered cost of capital of 13.2 percent, a cost of debt of 8.3 percent, and a
tax rate of 21 percent. What is the target debt-equity ratio if the targeted cost of equity is 14.5
percent?

A.0.54
B. 0.29
C.0.34
D. 0.48
E. (.33

5. Lucinda owns a $1,000 face value convertible bond that matures in six years, has a coupon rate of 6.5
percent, paid annually, and a conversion price of $17.50. Similar bonds have a current market return
of 6.35 percent while the related stock is priced at $18.03 per share. What is the conversion value of
this bond?

A. $1,007.30
B. $1,028.45
C. $996.11

D. $1,030.29
E. $1,000.00
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6. You have a $15,000 portfolio which is invested in Stocks A and B, and a risk-free asset. $6,000 is

10.

invested in Stock A. Stock A has a beta of 1.63 and Stock B has a beta of .95. How much needs to be
invested in Stock B if you want a portfolio beta of 1.107

A. $8,998.90

B. $8,333.33

C. $7,706.20

D. $7,073.68

E. $9,419.27

Miller Fruit wants to expand and needs $1.6 million to do so. Currently, the firm has 465,000 shares
of stock outstanding at a market price per share of $32.50. The firm decided on a rights offering with
one right granted for each share of outstanding stock. The subscription price is $28 a share. How
many rights are needed to purchase one new share of stock in this offering?

A.8.14

B.7.17

C. 822

D. 8.63

E.9.45

Jensen's Shipping has total assets of $694,800 at year's end. The beginning owners' equity was
$362,400. During the year, the company had sales of $711,000, a profit margin of 5.2 percent, a tax
rate of 21 percent, and paid $12,500 in dividends. What is the equity multiplier at year-end?
A.1.67

B.1.72

C. 1.93

D. 1.80

E. 1.86

Johnson Tire Distributors has debt with both a face and a market value of $35,000. This debt has a
coupon rate of 6.6 percent and pays interest annually. The expected earnings before interest and taxes
are $8,300, the tax rate is 21 percent, and the unlevered cost of capital is 10 9 percent. What is the
cost of equity?

A. 12.46 percent

B. 12.87 percent

C. 14.56 percent

D. 13.59 percent

E. 15.14 percent

Carlisle Carpets has cost of goods sold of $92,511, interest expense of $4,608, dividends paid of
$3,200, depreciation of $14,568, an increase in retained earnings of $11,920, and a tax rate of 21
percent. What is the operating cash flow?

A. $34,296

B. $42,122

C. $36,463

D. $31,543

E. $36,741
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11. The expected return on a portfolio:
A. can never exceed the expected return of the best performing security in the portfolio.
B. must be equal to or greater than the expected return of the worst performing security in the
portfolio.
C. is independent of the unsystematic risks of the individual securities held in the portfolio.
D. is independent of the allocation of the portfolio amongst individual securities.

12. Which one of the following statements is wrong?
A. The use of forward rates increases the short-run exposure to exchange rate risk.
B. Accounting translation gains and losses are recorded in the equity section of the balance sheet.
C. A firm can record a profit on its income statement from a foreign subsidiary even when that
subsidiary has no profit thanks to exchange rate risk.
D. Unexpected changes in economic conditions are classified as short-run exposure to exchange rate
risk.

13. Which one of the following statements is correct concerning the cash cycle?

A. The longer the cash cycle, the more likely a company will need external financing.
B. Increasing the accounts payable period increases the cash cycle.

C. Accepting a supplier's discount for early payment increases the cash cycle.

D. The cash cycle can exceed the operating cycle if the payables period is equal to zero.

14. Western Beef Exporters is considering a project that has an NPV of $32,600, an IRR of 15.1 percent,
and a payback period of 3.2 years. The required return is 14.5 percent and the required payback
period is 3.0 years. Which one of the following statements correctly applies to this project?

A. The net present value indicates accept while the internal rate of return indicates reject.

B. Payback indicates acceptance.

C. The payback decision rule could override the accept decision indicated by the net present value.
D. The payback rule will automatically be ignored since both the net present value and the internal
rate of return indicate an accept decision.

15. Which one of the following statements is wrong concerning the relationship between a levered and an
unlevered capital structure? Ignore taxes.

A. At the break-even point, there is no advantage to debt.
B. The earnings per share will equal zero when EBIT is zero for a levered firm.
C. The advantages of leverage are inversely related to the level of EBIT.
D. EPS are more sensitive to changes in EBIT when a firm is unlevered.
16. Which one of the following statements is wrong?
A. A reduction in personal tax rates tends to lead to lower dividends.
B. Dividends tend to fluctuate significantly from quarter to quarter.
C. Dividend payments are highly concentrated in a relatively small set of large companies.
D. Non-dividend-paying companies are generally more apt to commence paying regular dividends
than to implement a stock repurchase program.
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1,

18.

19,

20.

17. Which one of the following statements is correct?

A. Increasing the time to maturity may not increase the value of a European put.
B. An increase in time increases the value of a call option.

C. Exercising an American option is always more valuable than selling the option.
D. Vega measures the sensitivity of an option's value to the passage of time.

Round Dot Inns is preparing a bond offering with a coupon rate of 6 percent, paid semiannually, and
a face value of $1,000. The bonds will mature in 10 years and will be sold at par. Given this, which
one of the following statements is wrong?

A. The bonds will become discount bonds if the market rate of interest declines.

B. The bonds will pay 10 interest payments of $60 each.

C. The bonds will initially sell for $1,030 each.

D. The final payment will be in the amount of $1,060.

Which of the following statements are correct concerning diversifiable risks?

A. Diversifiable risks can be essentially eliminated by investing in 30 unrelated securities.
B. There is no reward for accepting diversifiable risks.

C. Diversifiable risks are generally associated with an individual firm or industry.

D. Beta measures diversifiable risk.

Which one of the following statements is correct?

A. An increase in the earnings per share as a result of an acquisition will decrease the price per share
of the acquiring firm.

B. If firm A acquires firm B then the number of shares in AB will equal the number of shares of A
plus the number of shares of B.

C. The price-earnings ratio can decrease even when the net present value of a merger is equal to zero.
D. Diversification is one of the greatest benefits derived from an acquisition.

= HEA (3858105 45 EEHE155 0 2604 BRI HBEAFM)

Assume a firm’s debt is risk-free, so that the cost of debt equals the risk-free rate, Ry. Define a as the
firm’s asset beta—that is, the systematic risk of the firm’s assets. Define BE to be the beta of the
firm’s equity. Use the capital asset pricing model (CAPM) along with M&M Proposition II to show
that Be =Pa x (1+D/E), where D/E is the debt-equity ratio. Assume the tax rate is zero.

. The balance sheet for Sinking Corp. is shown here in market value terms. There are 14,000 shares of
stock outstanding.
Cash 53,700 Equity 438,700
Fixed assets 385,000
Total $438,700 Total $438,700

(1) The company has declared a dividend of $1.30 per share. The stock goes ex dividend tomorrow.
Ignoring any tax effects, what is the stock selling for today? What will it sell for tomorrow?(2 4*)

(2) Suppose the company has announced it is going to repurchase $18,200 worth of stock. What effect
will this transaction have on the equity of the firm? (2 %)

(3) How many shares will be outstanding? (2 4+)
(4) What will the price per share be after the repurchase? (2 4+)
(5) Ignoring tax effects, show how the share repurchase is effectively the same as a cash dividend.

@)
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3. Square Hammer Corp. shows the following information on its 2020 income statement:
Sales=$305,000; Costs=$176,000; Other expense=$8,900; Depreciation expense=$18,700; Interest
expense=$12,900; Taxes=$23,345; Dividends=$19,500. In addition, you’re told that the firm issued
$6,400 in new equity during 2020 and redeemed $4,900 in outstanding long-term debt.

(1) What is the 2020 operating cash flow? (2.5 4%)

(2) What is the 2020 cash flow to creditors? (2.5 4%)

(3) What is the 2020 cash flow to stockholders? (2.5 4~)

(4) If net fixed assets increased by $46,000 during the year, what was the addition to Net Working
Capital? (2.5 4%)

4. Colosseum Corp. has a zero coupon bond that matures in five year with a face value of $65,000. The
current value of the company’s assets is $62,000, and the standard deviation of its return on assets is
34 percent per year. The risk-free rate is 7 percent per year, compounded continuously. ¢%3°=0.70

(1) What is the value of a risk-free bond with the same face value and maturity as the current bond?
G4

(2) What is the value of a put option on the firm’s assets with a strike price equal to the face value of
the debt? N(d1)=0.78 N(d2)=0.51(3 4")

(3) Using the answers from (1) and (2), what is the value of the firm’s debt? (3 4)

(4) Assume the company can restructure its assets so that the standard deviation of its return on assets
increases to 43 percent per year. What happens to the value of the debt? N(d1)=0.79 N(d2)=0.43
G %)

(5) What happens to bondholders if the company restructures its assets? What happens to
shareholders? (3 4%)

5. Consider the following premerger information about a bidding firm (Firm B) and a target firm (Firm
T). Assume that both firms have no debt outstanding,.

Firm B Firm T
Share outstanding 5,300 1,200
Price per share $ 44 $ 16

Firm B has estimated that the value of the synergistic benefits from acquiring Firm T is $9,300.

(1) If Firm T is willing to be acquired for $19 per share in cash, what is the NPV of the merger? (3 4%)

(2) What will the price per share of the merged firm be assuming the conditions in (1)? (3 %)

(3) In part (1), what is the merger premium? (3 4+)

(4) Suppose Firm T is agreeable to a merger by an exchange of stock. If B offers one of its shares for
every two of T’s shares, what will the price per share of the merged firm be? (3 4~)

(5) What is the NPV of the merger assuming the condition in (4)? (3 4+)
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Paired t-test
data: S1and S2
t=-2.1227, df=(¥F), p-value=0.9805
alternative hypothesis: true difference in means is greater than 0
95 percent confidence interval:
??)  Inf
sample estimates:

mean of the differences
-1
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2. ARERTHREBALESHGMA > R @HEHEULT

Y = Bo+ PiXi + Poxin + Paxis+ & ¥ iR TH i EHhA ARER  RETEIRL

EEE 0 SEHAREM - EPAKE  BRERY, =InP xpfix, 3 AhaREMELR

REBRGE o 3= (xp)? BEHZMEEA LR - ARLFKRE 263 274 &%

THEH TP~ Xy~ X REME - A REBETHNREIH e SHERE  NELH

= (A BRFERBENRE) o LT Sl BRek 98 — 37 £ 7

(A)(T)EHEHFHI -

(B) B %, 7T % SMEE @ EF 4 ey ANOVA & (RRAER REE) » £+ MSE /A 0.8
909 2R/ -

(C) Bo b st AT EFEA * BH T2 16855

(D) fiEstEATHES AL THRERET » Fx 38 1 B4 RIEFHD 7.4% -

(B) B, 1Bt T RTHRBE | ARG SHT » ¥ RS A ERRRER -

A= RAREER2A

Coefficients:

Estimate  Std. Error () ()
(Intercept) 16.855 8271 62.192 < Je-16 *** Ak FiER T
x1 -0.074 0.029 -2.562 0.011 * % 7% p-value
%2 0.289 0.050 5.778 2.16e-08 ***
%3 -0.013 0.00224 -5.959 8.24e-09 ***

Signif. codes: 0 “***0.001 “*** 0.01 “*>0.05°0.1°" 1
Residual standard error: 0.6461 on (?7) degrees of freedom
Multiple R-squared: (??), Adjusted R-squared: 0.1302
F-statistic: 14.07 on (&) and (??) DF, p-value: 1.596e-08
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3. ERAMEEATHREILSHUREPREALERNM%G KA BT EE (logistic
regression) BATAH o BERV A -—AYE > BV =1&ATH i AFPFARATESHESR
2Y, =078 i MEPAEREALNER - xnfix, CARAEBREH  AYHIMAA
Hi ey PisE 0 B¢

3.30"'31-’51"'!32"2

E¥) = 1 + ePotBix1+B2xz

FRARE 500 FHH  BETHEHRTENY 2 xMBME - A RBTMNBESH

WESM IS RERE NEAMAS (SHRTEOBIARE) - LT RLALE R

A — IR EHE 7

(A) ZEBEME  EREEAL =F, =0 HIBRAL L A2ALE  WEKIEN
B 1.01 8 1.02

(B) £ EBEMKE  EEBEEL =L, =0 HIBEAS LAEAL  MEGRIT IR
HABBES 2T 5E -

(C) B AESHETHEFEA ¢ X, RPWRTRT » 3o 1 B4 A FPAHFRTEASEERG
WE TR AP -

(D) # B BB E © B EBEAL =0 HIBRAL + 0 RIHKI BRI E LA 497
&) 1 5B

() B R RTHES | ARHUBRT 0K AEFETHRARTLSEH -

A= RANEEE3A

Coefficients:

Estimate Std. Error (?7) (77) £ FIERE
(Intercept) 0.0865 0.33833 0.256 0.79824 % 7% p-value
x1 0.3565 0.12716 2.804 0.00505 **
x2 0.0341 0.06605 0.516 0.60567

Signif. codes: 0 “****0.001 “**0.01 *** 0.05°>0.1°" 1
(Dispersion parameter for binomial family taken to be 1)
Null deviance: 620.69 on 499 degrees of freedom
Residual deviance: 612.33 on 497 degrees of freedom
AIC: 618.33

Number of Fisher Scoring iterations: 4
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Fo—t Y= Bo+ Bixin + Faxpp + &

=t Y = o+ Brxin + Baxin + BaxXiz + PaXis + &

Bz Y, =By + Bixin + Baxiz + Bs(xi3 + xi4) + &

Ry iAFR i ERA gARER MUTEIRENEES 0 - FREHAREMN A %H

ZREAARMNRAE - ER REBTMAQFE ML 238 RE > S aiA A

%53 BRE ~ RS ~ RS o AT 4L Rk R 8 — 36 B4k 7

(A FEBERE  BERBEREL; =P, HIBREL: =0 MESKFTERKABES 1
#2495t F 48 -

B) FRBHEBRE * EEBBERALs =Py HABEAL; # By ' REARITH N EMH T 43t
T o

O FRBBBBRE  EEBEAL =Lo=0 HIABRAEL; LA AHLE MBS ERA
Ao ES 144958 F e -

(D) # EBRRE | B EBRELL =L, =0 HALBRAL: LR EAZ » RRERITRAM
SFHEARR S B OE -

(B) RA LA IAHRE AR -

S. RFXTEOHHMALT (i =Fo+fixntPaxpte  E¥ i Zvf | EHhk o ghRE
oMK FESERALYMEES O SEHAF TN ASHIBAALARMEGEA - 2 UK
N EAET S BEFRERER SN 0 AT AL AR R A — 3 2R 7

(A) £ 95%f5 R E T oo RFEI PR HE M AH[1.36,1.72] » 2 Tp1H 95%#E %4
[1.36, 1.72]468 ¥ -

(B) &£ 95%Az KR T RAFR [ EEIEHEE M B[136, 1.72] 0 THFL B EIE A
1.54 -

O FERHBERFARE  F—HOEBBRAL =0, =0 HIBRAEL, LR BHE
FomeyE B MBRAL =0 HaMEAL #0 - XFERE —ENE BBE > A&
SR GEBE ey E RAR% -
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B R p i AT ABERGH Y bR ER
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(AT EHE > REEXRTRER )
(A) (R)ERBFAH 1S
(B) BALZTHY  —F/AMBZEF LI B RABRENER -
CoRikmbHE—EAUFTEEHRAY 4E  EARSEAOBTETFIRE » AWK
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A RAT (77) (77 (?7) #2 76
B 4847 (?7) () (?7) (27) 65
C 84T (77) (2%) (77) (42 85

RE:RAREER 6A

Pearson's Chi-squared test

data: x
X-squared = 15.088, df=(A), p-value=0.05745
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e—x
flx) = d+e?
7. BEME EX)ZRUTfTH ?
(A) RAF4E B)Vr )1 (D)0 (Eye

8. AMEMEBY = HEB YOMBEE  YHRETEREENTMH ?

1

T Be”  (Oye”  (D)2ye”  (B) RL%F

(A)
9. HEZR| >0 &9 40 E 0 Y&y R 4R (cumulative distribution function) F(y) & A F 47 & ?

(A)1—e™” (B)1-e™’ (€) -+ (D) (1 +y)e™ (E) n L%k

1ty
10, SRR E W =F(Y) » B VarGW)Z LT ?

(A) 4.5 (B) 3 (€)9 (D) 2.25 (E) 0.75
11 B1E 4 E(Y)Z AT AT 7

(A)2 (B) T(L5) ©1  OFEE  BREEE
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otherwise
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